| Bk

G E D
FEREAETLRARE RS -
Bl PAERRSHE 53
EITE IS -

G- TD

R ETERS ~ TATH o

AR ETER °

BE#) - BEFRAHEINS
LAl

FyBrEEZE - (FJ-30 ~ 36~ 40 ~ 45
FRIM)

AFSEEAE AR — RS -
[FEFEBA - NAMFTmE

CONTENTS

EmiERE 1796
@ FE)i%sE (FJ) 1798
A ERTE=E 1803

CKD

LCW
LCR
LCG
LCX
LCM
STM
STG
STSSTL
STR2
UCA2
ULK>
JSKIM2
JSG
JSC3JSC4
USSD
UFCD
UsSC
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
[UCACN
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3X%
NHS
HR
LN
£
=M
B,
fEiE R

1795



LCW
LCR
LCG
LCX
LCM

EmieRE '

>

—
XV

IF

B=5R
FJZR5!

STM
STG
STS-STL
STR2
UCA2
ULK3%
JSKIM2
JSG
JSC3JSC4
USSD
UFCD
usScC
JSB3
LMB
LML
HCM
HCA

EmR5

BUER

B2 R

M3 X
0.5

M4 X
0.7

M5 X
0.8

M6 X
1.0

M8 X
1.0

M8 X
1.25

M10X
1.25

LBC
CAC4
UCAC2

FJ—0

CAC-N
UCACN
RCC2

FJ—L

RCS
PCC
SHC
MCP

FJ—F

GLC
MFC
BBS
RRC
GRC
RV3x%
NHS
HR
LN
ST
SN
R e
B

_FK__ |
i
BE

1796

CKD




FJ Series

EmiERRK

LCW
LCR
LCG

o . R AreD PN K ] . oo ] . N LCX
OFFaR | R4 « OFFa: - XIR%E ~ OFF5k - REAE - 5k - #2RE o,

STM
STG
STS-STL
STR2
UCA2
ULK3X
JSKIM2
JSG
JSC3JSC4
USSD
UFCD
usScC
JSB3
LMB

925 R~

Y 24

M12X [M12X | M14X | M16X | M18X | M22X | M26X | M30X | M36X | M40 X | M45 X LML

125 | 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 %

LBC
(@) (] [ (] o (] o o @) O O 1798 ‘CACA

UCAC2

CAC-N

© [ ] L [ ] L [ ] L L O O ©) 1798 %

RCS

©) ° ° ° ° ° ° ° O e O 1798 e

MCP

GLC
MFC
BBS
RRC
GRC
RV35
NHS

HR
LN
ST

N
R o
L]

|FK_
B
BR

CKD 1797



SFENRER

FJ series

LCW
_LCR | @ BEARIAK : $20~ 200
LCG
LCX
LCM
Rots
STSSTL
STR2
ucrz | FRIE
ULK3% = o : = oo =, -
— IEH BRAFERRIHESESD (KN) §H1 BHfROE
JSKIM2 2FABOREX - IRIER
e mm) | EURE | SRR
JSCsch | FJ-3-3 M3X0.5 0.019 — —_
__USSD | 4 M4 X 0.7 0.053 — —_ 0.5
UFCD
—Use 5 M5 0.8 0.121 — — 0.5
JSB3 6 M6X1.0 1.08 —_— — 0.75
LMB 8 M8X1.0 1.08 1.08 1.08 0.75
% 8-1.25 M8 % 1.25 1.08 1.08 1.08 0.75
—Hoa | 10 M10% 1.25 2.45 2.45 2.45 0.75
LBC 12-1.25 M12X1.25 2.45 2.45 2.45 0.75
CAC4 12 M12X1.5 2.45 2.45 2.45 0.75 . .
UCAC?2 +5 -10~60°C
—cron] 14 M14%1.5 5.88 5.88 5.88 1.0
~UCACN | 16 M16%1.5 10.8 10.8 10.8 15
RCC2 18 M18X 1.5 10.8 10.8 10.8 15
% 22 M22x1.5 17.6 17.6 17.6 2.0
~ SHC | 26 M26X1.5 27.5 27.5 27.5 3.0
MCP 30 M30%1.5 60.8 60.8 60.8 3.0
GLC 36 M36%1.5 87.3 87.3 87.3 4.0
'\BATFSC 40 M40X 1.5 87.3 87.3 87.3 4.0
—RRC | 45 M45%1.5 108 108 108 4.0
GRC H1: IREAGAREER DR REESE -
RV3X 532 : FJ-8-1.25 ~ FJ-12-1.255 €88 o FJ-36 ~ 40 ~ 45
NHS BiRELE-
_HR |
LN o
N mugeER
=M
T — =
et e
L it A
e O =% 0 |EAE
BE L |fhZes
F|AEE
— D B AEOEXHIE
O #F AEOE XRIE = o L F
3 [M3X05 °
4 |Maxo.7 °
5 |M5%0.8 °
N 6 |M6X1.0 °
( BUSRAZ &6/ ) 8 |M8X1.0 e | o | o
FJ-0-3 8-1.25 |M8X1.25 o | o | o
E © STEEE 10 |M10Xx1.25 o | o | o
0 =% AR 12-1.25 [M12X 1.25 o | o | o
O BEFABOKXRIEE : M3X0.5 12 [M12X1.5 o | o | o
14 |M14X15 o | o | o
16 |M16X1.5 e | o | o
18 |[M18X1.5 o | o | o
iy p— (BUS5HRSE © CC-1226) 22 |M22x15 o | o | o
RIFE — REMIIE | (mrts s seomse - sipsms 26 |M26X15 e o | o
=3t RSP BN A ) 30 |M30%1.5 o | o | o
FJ = - _ @ EAR T RE A 2 - 36 [M36X15 oo o
40 |M40x1.5 o | o | o
XEEERTRHAAT - 45 |M45x1.5 o | o | o
s CKD



REBFEERTH—ER

FJ Series

RNEHEEREH—E

@ FJ-0-3~5

@ FJ-12~30

)

L/

L

BRERMERR £

=

=ESRELEE (RE) RE

@®FJ-0-6-8"10
FJ-0-36~45

8 |SEEdH

BHER BHER 2

£

hm

TEEIREE il

=ESRELEE (RE) RE

IR R0E il

=ESRELEE (RE) BB

9 |¥EEE

=i (FJ-3~5)

#8 (FJ-6~45)

=fEsRELEE

R

SEEH il

G WIN|[=

PEE BHHTREEE

2]

— |z

#8 (FJ-8.10.12)

=fEsRELEE

R

%84 (FJ-14~30)

R

#8 (FJ-36~45)

=fEsRELEE

R

X # (FJ-3~5)
KEEF
BREU[E E 23 2238 (FJ-645)

=ESRELEE (RE) BB

— |5H

£

(@)
(@)
=IESRELEE (K@)
(@)
(@)

=fEsRELEE

R

7 | o Wi (FJ-3~5)

#8 (FJ-6~45)

—ESRELEE (RE) RE

51 FJ-8 ~ 10K @ BISEESS -
52 : FJ-30LL ERFI@RIBSES -

CKD

LCW
LCR
LCG
LCX
LCM
STM
STG
STS'STL
STR2
UCA2
ULK3%
JSKIM2
JSG
JSC3JSC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV33%
NHS
HR
LN
=M
=M
i e
iRER
FK
nﬂ]:iﬁsﬂ

BE

1799



FJ'O Series

oW kT . |
o R : A G2
LCG @ FJ-0-3~5 M M
LCX
LCM ‘ | ,
STM :
STG .1 2 5 a
STSSTL = 5 3 i
STR2 i =
UCA2
ULK3X
JSKIM2 G H
JSG . - .
S5 | SEEIURIER 1l p
SCHISCH v c JE B
USSD A
— 2P @FJ0-6+8110 36~45
——ena | (FJ-36~451i ;8 B MiBHEES )
JSB3 “EFEI M
LMB M N
LML f
HCM P 5 L )
HCA 7 1 P | a
LBC \_ J - t i | ©l
CAC4 . 2 )
UCAC2
CACN <G,
UCACN F c E P _
RCC2 . A
— JEERIZEIER S
RCS AEARIEIER T
PCC [ } FJ-0-12-30 _
SHC (FJ-30it 2B MIPHEEE ) M
MCP M N “ETES
GLC j—f /
__MFC_| P 5 L 2| -
BBS o | H
“RrC| a 2 ’ 2
- ' ©
GRC ¥¥ ] 7‘?-—;_ =
RV3x —
NiHS B G
HR F c E P
LN . A
IS EEIRERT
M i1 : BBERIRESFFI-X-3~50EF HART (P) -
[T §"Fﬁug AR | BE
g | EERBEARE *ﬁ@ﬂin
-_ L | kg
FJ-0- 3 SCPD3-6 - SMG-6 0 5 0.019 0.012
% 4 SCPD3-10 * SMG-10 4 0.7 26| — |10 12 35| 7 2.5 1 55| 24 | 3.7 | 0.5 0.053 0.012
5 5 SCPD3-16+ SSD + $SD2-12-N * SMG-16 5 0.8 31.6| — |12 15.5 4 8 3.5 14 7 3.2 52 |05 0.121 0.022
= 6 SSD « SSD2-16-N « SMG-20 6 1.0 454 — [15.8 |21 4 10 9 17 |10 3.6 |12 0.75 |1.08 0.057
8 CMA2 « CMK2 + CKV2-20 + JSK2 JSM2-20 8 1.0 48.4| — (18.8 |21 4 13 9 17 |10 5 12 0.75 |1.08 0.061
SMG-25+SSD +
8-1.25 SSD2-20-N » SCM-20 8 1.25| 48.4 18.8 |21 4 13 9 17 |10 5 12 0.75 |1.08 0.061
CMA2-30  SMG-32 * CMK2 ¢
SCG + CKV2-25+ 32 FCD-25-N +
10 SSD + SSD2-25-N » SCM-25 + 32+ 10 1.25| 56.2 22 24 7 17 10 19 |12 6 12 0.75 |2.45 0.092
JSK2-25 32 JSM2-30
12 CMA2 « CMK2 + CKV2-40 » JSK2 JSM2-40 12 1.5 58| 20.5 |23 27 6 19 10 21 |12 7 11.8 | 0.75 |[2.45 0.12
12-1.25 |- 12 1.25 58| 20.5 |23 27 6 19 10 21 (12 7 11.8 | 0.75 |[2.45 0.12
SCG-40+ SCA2-40+ FCD-32+ 40N
14 14 . .5(2 22 2 7 22 1 27 |14 16. 1. b .22
§5D+ S3D2-32+ 40-N + SCMH4D  JSC3-40 5 | 685/20 3 3 8 |165 110 588 0
CAV2-50
16 COV2-50 16 1.5 84.2|26 29 43 1 24 14 27 (16 10 16.9 | 1.5 10.8 0.4
SCG-50 63 * SCA2-50+ 63+
18 FCD-50 + 63-N ¢ SSD * SSD2-50 + 63-N * 18 1.5 84.2|126 29 43 11 27 14 27 |18 1 16.9 | 1.5 10.8 0.41
SCM-50+ 63 + JSC3-50 63
SCG-80 + SCA2-80+ SSD »
22 SSD2-80-N » SCM-80 + JSC3-80 22 1.5 [102.5|31 34 53 14 32 17 32 (22 13 17.2 | 2.0 17.6 0.75
26 SC6-100+ SCA2-100+ 5D SSD2-100N+ SCAHI00JSCH00 | 26 1.5 |121.6(39 42 69 15 41 20 41 |26 16 20.8 | 3.0 27.5 1.5
30 SCS2-125+ 140+ JSC4-125 140 | 30 1.5 [145.2|147 50 90 16 46 21 46 |30 18 26 3.0 60.8 3.1
36 SCS2-160 « JSC4-160 36 | 15 [1635) — [57 [108 [16 [55 [22 | 55 [55 [21 [25 |40 [873 46
40 SCS2-180 » JSC4-180 40 1.5 [170.5| — |64 108 (16 60 22 55 (60 24 25 4.0 87.3 4.7
45 SCS2-200 45 1.5 |199.5( — (72 118 (18 70 24 60 (70 27 35 4.0 108 7.0

1800 CKD



FJ - L Series

SMERTE : HIZeR ol llow
LCR
@ FJ-L-8~12 (FJ-1209%E8  4EFE ) M H (#:28) LCG
2-¢J ) LCX
\ LCM
i ; STM
RS :Q a STG
o - R Y I
X - I © STSSTL
=) et
‘ STR2
o0 iy G UCA2
: «—P ULK3X
‘ - JSKIM2
| Q - JSG
R JSC3ISCH
A USSD
UFCD
FJ-L-14 el
¢ H (558) usc
/ JSB3
\‘ LMB
| - LML
; a =ML
o i - e |HCM
==t HCA
LBC
G CAC4
P UCAC2
. E ] a CACN
E UCAC-N
R |UCACN
RCC2
A RCS
PCC
@ FJ-L-16~45 (X6 - 4EFH) ‘ M H (i) |SHC
4-0JONTFL X MCP
L / GLC
== MFC
2 ! ' a BBS
4 e 5 e RRC
X =] i 1 GRC
RV3x%
“ AR G INHS
—— —— ] HR
- LN
E L S L Q M
oM
F R B
A B ~ 3T
e
[ M suEcE| mxen | S 6 QLS
BUSE FEFHAREL = (o J L mﬁagﬁan -
BT N o J R
FJ-L-8  |oMAZ-CMK2:CKV-20+JSK2-dsM220 | 8 [1.0 | 546[3.2| 15| 21| 26 |44 | 9|17 | 9| 25| — | — [12 | 456| 25| — 108 | 01 [BE
SMG-25 SSD »
8125 [ o ON - SCML20 8 (125 | 546(3.2[15| 21|26 |44 | 9|17 | 9| 25| — | — [12 | 456| 25| — | 0.75 1.08 | 0.1
CMA2-30 » SMG-32 + CMK2 +
SCG+ CKV2-25+32+ FCD-25:N +
10 |oon . sspaasn-scis g | 10 [1:25 | 645| 5| 19| 24|26 (44 | 10| 19| 9| 32 12 | 545 30 0.75 2.45 | 0.18
JSK2-25+ 32 + JSM2-30
12 [cwA2eCMK2- CKv240+JSK2+JsM240 | 12 (1.5 | 646 19 | 27|26 |44 | 10 | 21 32| — [ — [11.8| 546] 30| — | 0.75 2.45 | 0.19
12-1.25(- 12 [1.25 | 646 19 | 27|26 |44 | 10 | 21 32| — | — [11.8| 546| 30| — | 0.75 2.45 | 0.19
SCG-40+ SCA240+ FOD-32+ 40N
14 14 [1. 5010 | 22 | 32| 32 13 | 27 | 11 15| 23 [16.6] 79. — |1 ! 4
§SD + 55D2-32 +40-N + SCM-40+ JSC3-40 5 | 9%5(10 32| 32 | 60 | 13 38| 1.5| 23 [16.6| 795 50 0 588 | 043
CAV2-50
16 |Covaso 16 (1.5 |[1402| 14 | 28 | 43| 32|60 | 14 | 27 | 11 | 46| 1.5| 23 |16.9] 93.1| 85|32 | 1.5 108 | 04
SCG-50+63+ SCA2-50+63
18 [FCD-50+63N+SSD+SSD250+63N+ | 18 1.5 |1402| 14 | 28 | 43| 32 | 60 | 14 | 27 | 11 | 46| 1.5| 23 [16.9] 93.1| 85|32 | 1.5 10.8 | 1.1
SCM-50+63+ JSC3-50+ 63
SCG-80 + SSD * SSD2-80-N *
22 [ a0 schaoe sscago | 22 |15 [1635| 19 | 35| 53|36 | 68 |17 | 32 | 14 | 55 1.5| 26 |17.2[1105| 95| 36 | 2.0 176 | 2.1
SCG-100 + SCA2-100+ SSD +
26 | on-scmion-sscadoo| 28 |15 [1796| 24 | 42 | 69] 36 | 68 20 | 41 | 14 | 64| 1.5| 26 |20.8/1266| 100| 36 | 3.0 275 | 29
30  |SCS2125+140+JSC4-125+140| 30 [1.5 |[2172| 35 | 55 | 90| 46 | 82 | 21 | 46 | 18 | 80| 1.5| 32 |26 |[1522| 122 46 | 3.0 60.8 | 56
36 |SCS2-160 + JSC4-160 36 (1.5 |[2545| 41 | 67 [108| 56 [100| 22 | 55 | 22 | 97| — | — |25 |177 | 148| 56 | 4.0 873 | 89
40 |SCS2-180 « JSC4-180 40 [1.5 |[2545| 41 | 67 [ 108| 56 [100| 22 | 55 | 22 | 97| — | — |25 |[177 | 148| 56 | 4.0 873 | 88
45 |SCs2-200 45 |15 (294 |41 | 70 [118| 66 [125| 24 | 60 | 26 | 103] — | — (35 [203 | 166 66 | 4.0 |108 13.2
CKD 0



FJ - F Series

T~ "/,
Con SRR G
LCG @ FJ-F-8~14 (FJ-12 ~ 148X EBMNETE )
LCX
LCM
STM
STG
STSSTL
STR2 ‘
UCA2 ——— — — M
ULK3% {9 P
JSKIM2 ‘
JSG \ t \
JSC3HISCA ) | |
_USCHSCA | e N o . S
USSD u w '
UFCD | > — | g
usc ‘ \D< RS
JSB3 | G G
LMB {}\ i)
—HCM | 2 5
__HCA | c : A
LBC
CAC4
UCAC2
CACN
_ UCACN | @ FJ-F-16~45 (FJ-36 » 40 + 459X Ep 57 EIZIE)
RCC2
RCS
PCC
SHC | . M |
MCP ‘ | ‘ % ; [
GLC i ‘ ‘
MFC G} G} \ /
BBS i i 5 \gr - i K% i
RRC @ . }ﬁ : 2 ()
GRC N\ I | ==
RV3x -~ N1 -~
_NHS | () () o O O
__HR | | ‘
LN ‘ — P 1
%M g 4-J B i
LI A
BR F
FMEL ~ 3T
EEs
" e,ﬁﬁ..,\; mAEm |
Pk FEBARIL T 1R #E S | EE kg
e FIED [z KN
BRE FJ-F- 8 fg'Kpf J(;mzzocw 20+ 35.6 0.75 1.08 0.11
SMG-25+SSD «
8125 | N~ SCML20 8 (125 | 356| 6 | 19 | 21| 40| 52| o | 17 | 66 |12 0.75 1.08 0.11
CMA2-30 + SMG-32 + CMK2+
SCG + CKV2:25+ 32+ FCD-25-N +
10 oD SSonaen-scuas g, | 10 [125 | 432| 9 | 25 | 24 | 44 | 56 | 10 | 19 | 66 [12 0.75 2.45 0.18
JSK2-25+ 32+ JSM2-30
CMA2 - CMK2 » CKV2-40 +
12 15K2 » JSNDAD 12 | 15 | 436| 9 | 25 | 27| 44| 56 | 10 | 21 | 66 [11.8 | 075 2.45 0.19
12-1.25 |- 12 [125 |436| o | 25 | 27| 44| s6 | 10 | 21 | 66 [118 | 0.75 245 0.19
SCG40+ SCAZ40+FCD-32+ 40N -
14 s i scaosca| 14 | 15 | 575| 12 | 32 | 32| 6o | 80 | 13 | 27 |11 |165 | 10 5.88 0.56
16 CAV2-50 « COV2-50 16 | 15 | 712 16 |— | 43| 50| 75 | 14 | 27 |11 [169 | 15 10.8 1.1
SCG-50+ 63+ SCAZ:50+63+
18 FCD-50+ 63N 53D +55D2:50+63N+ | 18 | 1.5 | 71.2| 16 | — | 43 | 50 | 75 | 14 | 27 |11 |169 | 15 10.8 1.4
SCM50+ 63+ JSC3-50+ 63
SCG-80+ SCA2-80 + SSD +
22 oSDRB0N- SChe0. sscago| 22 | 15 | 878|189 | —| 53| 62 | 100 | 17 | 32 |14 |17.2 | 20 17.6 1.9
SCG-100+ SCA2-100+ D+
26 SSoRA00N SO0 sscaqo | 26 | 15 [1016 | 22 69 | 70 | 100 | 20 | 41 [14 [208 | 3.0 275 2.8
30 SCS2-125+ 140+ JSC4-125+140 | 30 | 1.5 [1202| 25 | — | 90 | 90 | 125 | 21 | 46 |18 |26 3.0 60.8 56
36 SCS2-160 « JSC4-160 36 | 15 [135 | 20 | — [ 108 [ 114 | 150 | 22 | 55 [22 |25 4.0 87.3 9.4
40 SCS2-180 + JSC4-180 40 | 15 [135 | 29 |— [ 108 [ 114 [ 150 | 22 | 55 [22 |25 4.0 87.3 9.3
45 SCS2-200 45 | 15 [150 | 32 [— [ 118 [ 132 [ 175 [ 24 | 60 [26 |35 40 | 108 13.4

1802  CKD



EETH

EmZZEMATH

(BRI SR AR - o
—RRAREEEE  FLMSYETIE ) RAMMA2MS Y Se0E - LCG
LCX
LCM
| ERIERBHIA | JZ)EE FIRY | il
= STSSTL
=ZE - BEE - AR STR2
UCA2
A ULK>%
=R JSKIM2
m EIE RIS F S BEER S REORF B - ER S
EHEMR KD - USSD
EEAEEREGES  HEERKEETE  SREE UFCD
IERHITENE - usc
HANTFERENMENZSBEIER - BRI AEE1~ JSB3
2/ - LMB
FI3~SUWBRBRETETFHARY (P) - Ao
_ . — o HCA
m LR E) B E R R AL B SR B 1 BES  WAIRIE LBC
BB EFE R T LUE A B9 S BB o 30 15 A RS 1R CAC4
DERRR - BITTIRAE ML SR - fImS LB iR e
$HelE FREERE o UCACN
BRI - WENRS R AR R IR SR AR - AT ARG RCC2
BREERHRRABRRE - RCS
PCC
RSP (EREEIEAR ) BESARIAESE - B AR H Tl sHe
FEEE - P AR - e
MFC
BBS
RRC
GRC
RV3%
NHS
= HR
£/ - -%Eiéﬂg LN
M
AES i -,
m B ERDREBEER -
FK
RS
BE

CKD 1803



184 CKD



| Bk

rERE-RBREZUIBERE A
PUBARRERELE - /5~ FTE
AREME - R AR ERIEE

BfE -

HEHEMHT « FITE

H] R E ST

CONTENTS

EmERE

1805

@ 5 3 ¥R (FK)

1806

ACRIEEE

1809

@FF: - 1F4E

LCW
LCR
LCG
LCX
LCM
ST™M
STG
STS STL
STR2
UCA2
ULK3
JSKIM2
JSG
J8C3 JSC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3%
NHS
HR

LN
Fm

B
R o
HER

FE% ¢ EARME

ERRT

BgR

925 R~

M3x
0.5

M4x
0.7

M5x | M6x | M8x | M8x | M10x | M10x | M12x
08 1.0]1.0[125[125| 15 | 15

M14x
15

M16x
15

M16x
2.

M18x
15

M20x
2.5

M22x
15

M26x
1.5

I 2

sherE

FK-%-N

SERT

FK

1806

CKD

1805



[GRPET kL

FK Series

LCW
_LCR | @ BEARMEIK : $6~d100
LCG
LCX
LCM
STM @ CAD
STG
STSSTL
STR2
uca2 | FEIR
e I T SHaE 1 BHRCE |ENHAREE
5G| 5hF ) (mm) (mm)
JSCHISCA FK-M3-N FK-M3 63
__USSD | FK-M4-N FK-M4 110
UFCD
—Usc | FK-M5-N FK-M5 179
~JsB3 | FK-M6-N FK-M6 253
LMB FK-M8-N FK-M8X 1.0 462 +0.3
_ LML | — FK-M8X 1.25 462
_HoM FK-M10-N FK-M10 734
_ HCA | 0.1~0.3
LBC — FK-M12 1069
_ CAC4 | — FK-M14 1466
UCAC2
Cren FK-M16-N FK-M16 2003
UCACN — FK-M18 2448
RCC2 FK-M20-N — 3130 +0.7
__RCS | — FK-M22 3896
PCC —
—sHc | FK-M26 6219
MCP | 31 : A#EafAXTEEaH
GLC
o FENEEE e
MFC ﬁ:”i)ﬁ. ,-T-/T\jj_/f
BBS o ten
“RRC | @ E 5 FENIEE
__GRC_| =( M3-N )
_ RV3x |
NHS
HR B [INE
LN O 1BFRT
HIERISR < -
’ O#FRY M3-N M3%0.5
M4-N M4X0.7
M5-N M5X 0.8
M6-N M6X1.0 %cf
e M8-N M8 X 1.25 A1
= M10-N M10X1.5
M16-N M16X2.0
M20-N M20X 2.5
M3 M3X0.5
M4 M4X0.7
M5 M5X 0.8
M6 M6X 1.0
M8X 1.0 M8X 1.0
M8X1.25 M8 X 1.25 P
M10 M10X1.25 F
g!
M12 M12X1.5
M14 M14X1.5
M16 M16X1.5
M18 M18X%1.5
M22 M22X% 1.5
M26 M26% 1.5
KIFE R EIRIE | (mss@ss - cc-1226)
Q@ BERANZREDREZLEE -
FK - (|FR<)  -(P40) LA
XEFEBEBITARAAT °
e  CKD



F K Series

WERTE
SMERE o

LCR
LCG
ME LCX
@ ETZE (1) REEE % [ Lcv
_ c _ . B STM
D STG
E E STS-STL
= ~ STR2
UCA2
ULK3%
A JSKIM2
g < JSG
| | L Y JSC3SCA
0 USSD
J - UFCD
usc
@ ETZE (2) JSB3
LMB
) . LML
HCM
HCA
— i CAC4
UCAC2
CACN
A UCACN

N
L/

\ . i RCC2

J

N

L/

i
i\
g

3
-
A

A

'
Za)
12}
oy

=
o
A
A
Y

/D
N
1
/R
L/

RCS

N
y Pcc
O

M
P
o
N

SHC
MCP
GLC
MFC
4-Q BBS
RRC
GRC
RV33x
NHS

e | H_|EE o JENEE

M3X0.5 5.3
M4x0.7 5.5
M5X%0.8 8.3
M6%1.0 8.9
M8 X 1.25 13 30.8
M10X 1.5 13 327
M16 X 2.0 23 1225 ER
M20X2.5 32 333

L
nan

2-Q

M3~M16

BEEZ (1)
FK-M3-N | SSD+SSD2-12 11.6 10 15 10 3.1
FK-M4-N | SSD - SSD2-16 11.6 10 15.5 10 3.1
FK-M5-N SSD « SSD2-20,FCD-25 13.9 12 16.5 10 3.1%"
FK-M6-N | SSD « SSD2-25,FCD-32 13.9 12 19 10 3.1
FK-M8-N | SSD +SSD2-32,40,FCD-40,50 21.9 19 23 15 517"

FK-M10-N | SSD « SSD2-50,63,FCD-63 21.9 19 24 15 5.1
FK-M16-N | SSD « SSD2-80 37 32 31 20 7.1%"
FK-M20-N | SSD + SSD2-100 53.1 46 43 28 12.17"

F"';‘JI:I (2)

-“-“““““““

= -
N
o
Nl |lwINdINDINDIN
D

-

FK-M3-N | SSD-SSD2-12 6 35 7

FK-M4-N | SSD - SSD2-16 6 30 16 14 7 24 34 45 8 — 16

FK-M5-N | SSD » SSD2-20,FCD-25 6 35 19 16 9 26 36 45 9.5 — 19.6
FK-M6-N | SSD » SSD2-25,FCD-32 6 30 19 16 9 26 36 45 9.5 — 19.6
FK-M8-N | SSD* SSD2-32,40,FCD-40,50 9 57 25 25 14 38 52 7 12,5 — 54.5
FK-M10-N | SSD - SSD2-50,63,FCD-63 9 5. 25 25 14 38 52 7 125 — 54.5
FK-M16-N | SSD + SSD2-80 12 75 44 42 25 62 85 1 22 — 216
FK-M20-N | SSD + SSD2-100 22 ma 65 59 34 90 120 14 135 38 788

CKD 1807



F K Series

1808

—— , CAD

_Low  AMERSTE
LCR
LCG
LCX e
LCM RERIE © KR

_STM | @BEER (1) @ EEZ (2)

_ STG | J <5 - L
STS'STL <> S s s _R

LS - D - B K R K - -

_ STR2 | E E L LS
UCA2 — - | | ‘

_ ULKX | 4 o Jar S s
JSKIM2 ) I ] C T |
JSG —— [ i | )
1SCHSCA z 7\ - = ol N - ‘ N
ussb Lodbegtd ' W, v W 5| afo|z

~UFGD | v MLy L , J
usc — = G ¥ f}

e L4 &1 O
LML 2Q ! s
HCM 4Q
HCA

~BC | M3~M18 M22~M26

_ CACA T EEE (1)

UCAC2

ey % | @#mmm | A | B ( D | E | F | G | H |EE g|
UCACN FK-M3  [SCPD3-6,CAT-6,SMG-6 11.6 10 10 317! 2 M3X0.5 6 46
RCC2 FK-M4  |SCPD3-10,CAT-10,SMG-10 11.6 10 10 3.1%" M4X0.7 4.1

__RCS | SCPD3-16,CAT-15,SMG-16 o
PCC FK-M5 SSDAN 13.9 12 10 317 2 M5X0.8 8 6.2
SHC Bl

~McP | FK-M6  |SMG-20,SSD SSD2-16-N 13.9 12 10 317! M6 1.0 8 5.7
GLC FK-M8X 1.0 |CMK2-20,CMA2-20,JSK2-20,JSM2-20 21.9 19 15 517" M8X 1.0 13 23
MFC FK-M8X1.25 [SMG-25,SSD SSD2-20-N,SCM-20 21.9 19 15 5.1%" M8 1.25 13 23.4

_ BBS | CMK2-25 32,CMA2-30,SMG-32,8SD SSD2-25-N, or
RRC FK-M10 21.9 19 15 517 3 M10X1.25 13 20.2

—GRC | SCG-32,5CN-25 32,FCD-25-N JSK2-25 + 32,J5M2-30

" Rv3x | FK-M12  |CMK2-40,CMA2-40,JSK2-40,JSM2-40 27.7 24 15 5.17%" 3 M12X 1.5 18 35.7
NHS SCA2-40,SSD SSD2-32 40-N SCG-40, or

— 5 | FK-M14 27.7 24 15 517 3 M14X 1.5 18 31.2

SCM-40,FCD-32 40-N,JSC3-40
FK-M16  [CAV2-50 37 32 20 7.7 4 M16X 1.5 23 81.3
SCA2-50 63,5SD SSD2-50 63-N,SCN-50 63, or
FK-M18 37 32 20 747 4 M18X 1.5 23 73.1
SCG-50 63,FCD-50 63-N,JSC3-50 63
SCA2-80,SSD SSD2-80-N,JSC3-80, o
FK-M22 53.1 46 28 1217 7 M22X 1.5 32 226
SCG-80,SCM-80,CAV2-75 + 100
FK-M26  [SCA2-100,8SD SSD2-100-N SCH-100,J5C3-100,5CG-100 53.1 46 28 12177 7 M26X 1.5 32 193
EZ (2)
JI 3 £ =
g | @mmir | o | k[ L | m[nNn]o [P | a]|R [ s |EE
FK-M3  |SCPD3-6,CAT-6,SMG-6 6 39, 16 14 7 24 34 45 8 — 16
FK-M4  |[SCPD3-10,CAT-10,SMG-10 6 39, 16 14 7 24 34 45 — 16
SCPD3-16,CAT-15,SMG-16 .
FK-M5 SSD SSD212.N 6 39, 19 16 9 26 36 45 9.5 — 19.6
FK-M6  [SMG-20,SSD SSD2-16-N 6 o 19 16 9 26 36 45 9.5 — 19.6
FK-M8X 1.0 |CMK2-20,CMA2-20,JSK2-20,JSM2-20 9 o 25 25 14 38 52 7 12.5 — 54.5
FK-M8X 1.25 |SMG-25,SSD SSD2-20-N,SCM-20 9 o 25 25 14 38 52 7 125 — 54.5
CMK2-25 32,CMA2-30,SMG-32,5SD SSD2-25-N, .
FK-M10 9 59, 25 25 14 38 52 7 12.5 — 54.5
$CG-32,5CN-25 32,FCD-25-N JSK2-25 + 32,J5M2-30
FK-M12  [CMK2-40,CMA2-40 9 59, 32 32 19 50 70 9 16 — 94.5
SCA2-40,SSD SSD2-32 40-N SCG-40, .
FK-M14 9 59, 32 32 19 50 70 9 16 — 94.5
SCM-40,FCD-32 40-N,JSC3-40
FK-M16  [CAV2-50 12 73, 44 42 25 62 85 1 22 — 216
SCA2-50 63,SSD SSD2-50 63-N,SCM-50 63, .
FK-M18 12 75, 44 42 25 62 85 1 22 — 216
SCG-50 63,FCD-50 63-N,JSC3-50 63
SCA2-80,SSD SSD2-80-N,JSC3-80, .
FK-M22 SCG.80 SCMB0.CAV2.75 - 100 22 12 9, 65 59 34 90 120 14 13.5 38 788
FK-M26  [SCA2-100,8SD SSD2-100-N.SCH-100,J5C3-100,5C-100 22 12 3, 65 59 34 20 120 14 13.5 38 788

CKD



{ERRIGESBYFRARSTE - LCW
LCX
STG
= - BlE - AR
UCA2
m LS 5 e E R R A R AR Y ER S Y e R - jsfﬁw
I ENIRSHEE EME o USC
mBSFER (BEZSR (1) ) AT EE  BAHMNEHEE L
LBC
CAC-N
RCS
MCP
BBS
RV3x
LN

R T
e —
Em=ZEEATH
RS R BEMESETIE SRR SRS 580 - oo
LCM
| EREEEE 5 IHIEE FKRY | STM
STSSTL
STR2
2R H- ULK:%
=245 JSKIM2
BRI RTLGESHH OMUEE - nRE USSD
FEFEL IR - BIR A i E 5 o BN L UFCD
JSB3
LMB
SR - A AR - on
CAC4
UCAC2
UCAC-N
RCC2
PCC
SHC
GLC
MFC
RRC
GRC
NHS
HR
M
1
aE

CKD 1809



	FJ浮動接頭
	FK簡易浮動接頭



